
Y3 – Spring – Block 4 – Step 4 – Equivalent masses (kilograms and grams) Answers

Question Answer

1

1 kg = 1,000 g
The total in each of the ticked boxes is 1,000 g.
The total in the other box is 750 ml.
The total in the first box is 800 g and the total the last box is 100 g.

2
There are 1,000 grams in 1 kilogram.
1 kilogram is equivalent to 1,000 grams.

3

multiple possible answers, e.g.
500 g, 200 g, 200 g, 100 g
200 g, 200 g, 200 g, 100 g, 100 g, 50 g, 50 g, 50 g, 50 g

4
200 g

5

a) 700 g
b) 200 g
c) 900 g
d) 500 g
e) 750 g
f) 10 g
g) 150 g
h) 520 g

6

a) 500 g
b) 250 g
c) 200 g
d) 100 g

7

No
The sizes of the intervals on each scale are different.
Arrows are pointing to 200 g, 500 g, 400 g and 400 g.

✔︎

✔︎

✔︎


